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Table-1 below shows the state-wise foreign investments (in € crore) in the year 2022 and Table-2 shows the percentage
(%) distribution of investments in different sectors for each state. Based on the data in the tables, answer the
questions that follow.

Table-1: State-wise Details of Foreign Investment

State Foreign Investment (in  Crore)
Rajasthan 3120
\adhya Pradesh (MF) 3560
Gujarat 3940
Tamil Nadu (TN) 1360
Andhra Pradesh (AP) 1460
Delhi 1660
Haryana 3830

Table-2: Sector-wise Distribution of invesment for each state

Percentage (%) Distribution of Investment for each state in

Defence Telecom Insurance Pharmaceuticals Construction Others
25.6% 13.5% 18.5% 8.5% 14.4% 19.5%

Sub questions

Question Number : 1 Question Id : 22742719021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total foreign investment (in < crore) in 'Others' sector in all the seven states together?

1.3297

2. 3505

3. 3705

43905
Options :
22742774101. 1

22742774102. 2



22742774103. 3
22742774104. 4

Question Number : 2 Question Id : 22742719022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The foreign investment in Insurance sector in Rajasthan is approximately % of the foreign investment in
Construction sector in Haryana

Options :

22742774105. 1
22742774106. 2
22742774107. 3

22742774108. 4

Question Number : 3 Question Id : 22742719023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The foreign investment in Pharmaceutical sector in AP 1s approximately % less than the foreign investment in

Telecom sector in Delhi.

1478

2446

3496

4458

Options :
227427741009. 1
22742774110. 2



22742774111.3

22742774112. 4

Question Number : 4 Question Id : 22742719024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For which of the following pair of states, the ratio of foreign investment in Defence sector is 52 : 237

1. Rajasthan, TN

2 Haryana, TN

3. MP, AP

4 MP, TN
Options :
22742774113. 1
22742774114. 2
22742774115. 3

22742774116. 4

Question Number : 5 Question Id : 22742719025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the difference (in ¥ crore) between the foreign investment in Defence sector in Gujarat and in Construction and
Insurance sectors together in MP?
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Options :

22742774117. 1
22742774118. 2
22742774119. 3



22742774120. 4

Question Id : 22742719020 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742719021 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774101. 1
22742774102. 2
22742774103. 3

22742774104. 4

Question Number : 2 Question Id : 22742719022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774105. 1
22742774106. 2
22742774107. 3

22742774108. 4

Question Number : 3 Question Id : 22742719023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427741009. 1
22742774110. 2
22742774111.3

22742774112. 4

Question Number : 4 Question Id : 22742719024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774113. 1
22742774114. 2
22742774115. 3

22742774116. 4

Question Number : 5 Question Id : 22742719025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774117. 1
22742774118. 2
22742774119. 3

22742774120. 4

Sub-Section Number : 2
Sub-Section Id : 227427746
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742719026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a benefit of Mind Mapping?

1. Improving memory retention

2. Enhancing creativity and problem solving skills
3. Reducing stress and anxiety

4 Making information more difficult to comprehend

Options :

22742774121. 1
22742774122, 2
22742774123. 3

22742774124. 4

Question Number : 6 Question Id : 22742719026 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427741211
22742774122. 2
22742774123.3

22742774124. 4

Question Number : 7 Question Id : 22742719027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not the characteristics of Adolescent learners?
A They have uniformity in their physical development.

B They have stable self-concepts.

C. They often experience mood swings and emotional turmoil.

D. They have high hopes and aspirations for their future.

E_They have increased peer group pressure.

Choose the correct answer from the options given below:

1.A C, DandE only
2. Cand D only

3. B, CandE only

4 Aand B only

Options :



22742774125.1
22742774126. 2
22742774127.3

22742774128. 4

Question Number : 7 Question Id : 22742719027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774125. 1
22742774126. 2
22742774127. 3
22742774128. 4

Question Number : 8 Question Id : 22742719028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the National coordinators for the production of best quality content in SWAYAM?
(A). NCTE

(B). AICTE

(C). IGNOU

(D). UGC

(E). CEC

Choose the correct answer from the options given below

Options :

22742774129. 1
22742774130. 2
22742774131.3
22742774132. 4

Question Number : 8 Question Id : 22742719028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774129. 1
22742774130. 2
22742774131.3
22742774132. 4

Question Number : 9 Question Id : 22742719029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the objective of teaching?

1. To help students to become better thinkers

2. To facilitate the development of problem solving ability among students

3. To follow a rigid teaching plan

4 To help learner, adjust his perceptions to reality, attaining harmony between internal and external experiences

Options:
227427741331
22742774134, 2

22742774135. 3



22742774136. 4

Question Number : 9 Question Id : 22742719029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B EARFA AR NI AR A R E R Y

1. 95 fiep & o fou el e e

) I T8 B T8 Bl G

3. Wt RIGIU] TH @1 FUTCH B

4. ¥ 3l I G § AT X, AN U g Sl o 7 STl T b foid SRclafl @) Geraal &

Options :

22742774133. 1
22742774134, 2
22742774135. 3

22742774136. 4

Question Number : 10 Question Id : 22742719030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Edpuzzle is a tool used for mind mapping in education.

Statement (I1): Mindmeister is a tool used for creating interactive videos in education.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) 1s true but Statement (I1) s false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742774137.1



22742774138. 2
22742774139. 3
22742774140. 4

Question Number : 10 Question Id : 22742719030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774137. 1

22742774138. 2

22742774139. 3

22742774140. 4

Question Number : 11 Question Id : 22742719031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the characteristics of open ended questions in survery research:
A The questions suggest certain kinds of answer to the respondents.

B. They are useful for exploring new areas.

C. They are time consuming for interviewers to administer.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) and (C) only.
3. (A) and (C) only
4 (A), (B) and (C)
Options :
22742774141.1
22742774142. 2
22742774143. 3

22742774144. 4

Question Number : 11 Question Id : 22742719031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a7y H ad Uyl &) [ARarel 31 ugaH difed|

(A). T8, TRl @ U ISR & 3wk &1 4dhd Hd ¢
(B). T 7T &= H 300 H3 §q IUGFT 81d &1

(C). § WETEHREBAIS & oY YaTa $H o G99-AH Bld 8|
Tefu e d 4 T S -

1. &dd (A) 3R (B)

2 &dd (B) 31 (C)
3 &dd (A) a?r{ (C)
4 (A), (B) 3R (C)
Options:

22742774141.1



22742774142. 2
22742774143. 3

22742774144. 4

Question Number : 12 Question Id : 22742719032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): In a reference written in APA style, the first name of an author is written first

Statement (1) In a reference written in APA style, the year of the publication is written after the page number.
In light of the above statements choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (1) and Statement (Il) are false.
J. Statement (1) is true but Statement (1) is false.
4 Statement (1) Is false but Statement (1) is true.

Options:

22742774145. 1
22742774146. 2
22742774147. 3

22742774148. 4

Question Number : 12 Question Id : 22742719032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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227427741451
22742774146. 2
22742774147. 3

22742774148. 4

Question Number : 13 Question Id : 22742719033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-l (Types of Research /

study) List-Il (Description)

(A). Basic Research (I). Invesgations meant o discover whether variables covary

). Corelaonal Research (If). An indepth study of & single or a few individuals to see how changes affect the person's

behaviour
(C). Case study (I11). Agroup of participants is observed and measured over time
(D). Longitudinal study (IV). A study / research that tests or expands on theory

Choose the correct answer from the options given below:

Options :

22742774149. 1
22742774150. 2
22742774151.3
22742774152. 4

Question Number : 13 Question Id : 22742719033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.(A) - (I1), (B) - (IV), (C) - (1), (D) - (11}

2. (A)-(IV), (B) - (1), (C) - (1), (D) - (liT)

3. (A) - (1), (B) - (1), (C}- (1), (D) - (IV)

4 (A) - (1D, (B) - (IV), (C) - (1), (D) - (I1)

Options :

22742774149.1
22742774150. 2
22742774151. 3
22742774152. 4

Question Number : 14 Question Id : 22742719034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following types of varnables can NOT be rank ordered?

1. nominal

2. ordinal

3. Interval

4. ratio
Options:
22742774153. 1

22742774154. 2



22742774155. 3

22742774156. 4

Question Number : 14 Question Id : 22742719034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774153. 1
22742774154, 2
22742774155.3

22742774156. 4

Question Number : 15 Question Id : 22742719035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to UGC regulations 2018 on plagiarism, level 3 plagiarism refers to similarities

1. above 60%

2. below 10%

3. above 10% to 30%
4 above 40% to 60%
Options :
22742774157. 1
22742774158. 2

22742774159. 3



22742774160. 4

Question Number : 15 Question Id : 22742719035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774157. 1
22742774158. 2
22742774159. 3

22742774160. 4

Question Number : 16 Question Id : 22742719036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the Hindu tradition, the purpose of good communication is to

1. create social groups

2. produce tasteful entertainment

3. make people seek enlightenment
4 offer an insight into materialism

Options :

22742774161. 1
22742774162. 2
22742774163. 3

22742774164. 4



Question Number : 16 Question Id : 22742719036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774161. 1
22742774162. 2
22742774163.3
22742774164. 4

Question Number : 17 Question Id : 22742719037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The maximum amount of information sent over a channel within a specific period of time reflects

1. Communication process
2. Information overload

3. Transmission barriers

4 Channel capacity
Options :
22742774165. 1
22742774166. 2
22742774167. 3

22742774168. 4

Question Number : 17 Question Id : 22742719037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774165. 1
22742774166. 2
22742774167. 3

22742774168. 4

Question Number : 18 Question Id : 22742719038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true in the case of metacommunication?
(A). It is intentional.

(B). It is not always intentional.

(C). It often takes place spontaneously.

(D). It can modify itself.

(E). It decontextualises itself.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4 (A), (D) and (E) only.

Options :

22742774169. 1



22742774170. 2
22742774171. 3
22742774172. 4

Question Number : 18 Question Id : 22742719038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774169. 1
22742774170. 2
22742774171.3

22742774172. 4

Question Number : 19 Question Id : 22742719039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

statement |- In the modern day world, language is an effective instrument of communication.
statement II: The Buddhists regard language as an important social practice.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

227427741731
22742774174. 2
22742774175.3
22742774176. 4

Question Number : 19 Question Id : 22742719039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
EIERAGAIC A

HY - | : AYFD Gy T YU YR &1 T THIE! eE 2|

HYT - || : 95 YHiTET Y S UH Jedyul QHled Tl 91 d g
Ul BYHl & eile | FEkiREd [ded § 9 8 3w g -

1. @Y | AR | GHf 9 B

2. &Y | 3R || GH HTF B

3. ®YF | 9 &, T DY Il 3 B
4 YT 30d e, [P PYH I A Bl

Options:
227427741731
22742774174. 2

22742774175. 3



22742774176. 4

Question Number : 20 Question Id : 22742719040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are fwo statements:
Statement | Communication media are neither neutral nor value free containers that carry information to different places.

Statement [I No Communication technology has its own unique set of physical, technical, symbolic and environmental
characteristics.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement (1) and Statement () are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) Is true but Statement (1) is false.

4 Statement (1) Is false but Statement (1) s true.

(
(

Options :

22742774177. 1
22742774178. 2
22742774179. 3

22742774180. 4

Question Number : 20 Question Id : 22742719040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oo fumE:
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Options :

22742774177. 1
22742774178. 2
22742774179. 3

22742774180. 4

Question Number : 21 Question Id : 22742719041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Two persons X and Y can do a piece of work in n days. If X alone can complete the work in (n+3) days and Y alone can do the
work in (n+12) days, find the value of n.

1.6

210

3.7

45

Options:
22742774181. 1
22742774182. 2
22742774183.3

22742774184. 4

Question Number : 21 Question Id : 22742719041 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 kT X 3R Y W 7l n A R 6 Wl 1 3 X 3t T 3 0 (n+3) fefl o QU o e § AR Y 3t T (n+12)
feefl o O &8 e , fl n 61 AT 9 it

e e

o

B
10
i
45
Options :

22742774181. 1
22742774182. 2

22742774183. 3

22742774184. 4

Question Number : 22 Question Id : 22742719042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aman, while pointing towards a lady, said, "Her husband is the only son of my mother”. How is the man related to the lady?

1. Hushand

2.5on

3. Father-in-law

4 Brother-in-law
Options :
22742774185. 1
22742774186. 2
22742774187. 3

22742774188. 4

Question Number : 22 Question Id : 22742719042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774185. 1
22742774186. 2
22742774187.3

22742774188. 4

Question Number : 23 Question Id : 22742719043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Aqirl walks straight in the opposite direction of the front door of her house. The front door of the house is facing towards south.
Atter walking for 50 meters the girl turns to her left and walks 100 meters thereafter the girl tums right and stops after walking
for 100 meters. Which direction the girl is facing now?

1. North
2. South
3. North-west
4 North-gast

Options :

22742774189. 1
22742774190. 2
22742774191. 3

22742774192. 4



Question Number : 23 Question Id : 22742719043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T Teh! 4O TR o T o ol ) 1o Fot ) il 61 390 R b W e ol G4 ol @1 N el 5150

Y T 9, 5 ) R e 2 9 100 0 0 31 0% 9, T i e AR e R 10 e
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1. JW
2. <

3. TRUEH

43RG
Options:
22742774189. 1
22742774190. 2
22742774191, 3

22742774192. 4

Question Number : 24 Question Id : 22742719044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What number would replace question mark (?) in the series given below?
1,6, 18, 44, 98, 208, 430, ?

L N
[ma]
|
[y

oy

w00
| xR o e
o

Options :

22742774193. 1
22742774194, 2
22742774195, 3

22742774196. 4



Question Number : 24 Question Id : 22742719044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I €1 712 siaaen § uyaEd [©F (?) B B O 9 ufowiifud &l 2

1,6, 18, 44, 98, 208, 430, ?

[ T L
(o B i
=] L2
oy T

oy

w0
[On
o O

Options:

22742774193. 1
22742774194. 2
22742774195. 3
22742774196. 4

Question Number : 25 Question Id : 22742719045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language:

a) 'AMAN' is coded as 29

b) 'RAMAN' is coded as 47

How "SHAM' will be coded in that language?

43
28
41
.37

[

=

Options :
22742774197. 1

22742774198. 2



22742774199. 3
22742774200. 4

Question Number : 25 Question Id : 22742719045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U i3 de HIw o -

a)'AMAN', 29 H U § pfed &

b) 'RAMAN' 47 & ®UH pfed g

Y Y19 H 'SHAM' &I Bl Bied fddl ST 2

43
28
41
37

[

e

Options:

22742774197. 1
22742774198. 2
22742774199.3

22742774200. 4

Question Number : 26 Question Id : 22742719046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that if one of them Is false, the other must be true, even though both of them
can be frue?

A Some cars are e-vehicles
B. Some cars are not e-vehicles
C. No cars are e-vehicles.

D All cars are e-vehicles

Choose the correct answer from the options given below;

1.(A) and (B) only

2.(B) and (C) only

3. (A) and (C) only
4.(C)and (D) only.
Options :
22742774201. 1
22742774202. 2
22742774203. 3

22742774204. 4

Question Number : 26 Question Id : 22742719046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. %aa (A) 3R (B)
2 a4 (B) 3R (C)
3 W (A) 3R (C)

o4 (C) 3R (D)
Options :
22742774201. 1
22742774202. 2
22742774203. 3

22742774204. 4

Question Number : 27 Question Id : 22742719047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the statement "All trucks are polluting vehicles is given as true, which of the following statements could be immediately
inferred to be false?

A Some frucks are polluting vehicles.

B. Some polluting vehicles are frucks.

C. Some frucks are not polluting vehicles.

D. No trucks are polluting vehicles.

Choose the correct answer from the options given below:

1.(C) and (D) only.

2. (A) and (B) only

3. (B) and (C) only.

4. (A) and (C) only.
Options :
22742774205. 1
22742774206. 2
22742774207. 3

22742774208. 4

Question Number : 27 Question Id : 22742719047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774205. 1
22742774206. 2
22742774207. 3

22742774208. 4

Question Number : 28 Question Id : 22742719048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement- "Some non-realists are not non-philosophers."?

1. Some philosophers are not realists.
2. No philosophers are realists.

3. Some realists are philosophers.

4. Some philosophers are realists.

Options:

22742774209. 1
22742774210. 2
22742774211.3

22742774212. 4



Question Number : 28 Question Id : 22742719048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fofafed o 9 oF-91 Y "$8 TR-gurad IRER® 76l & Y9 & 99dd 87
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Options:

227427742009. 1
22742774210. 2
22742774211.3

22742774212. 4

Question Number : 29 Question Id : 22742719049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

"No one has been ever able to prove that Glaciers in the arclic region are melting because of Global warming. Therefore,
glaciers in the arctic region must be melting on their own." Which fallacy is committed in the above statement?

1. Fallacy of Accident
2. Slippery Slope

3. Hasty Generalisation
4 Appeal to Ignorance

Options :

22742774213. 1
22742774214. 2
22742774215. 3
22742774216. 4



Question Number : 29 Question Id : 22742719049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774213. 1
22742774214. 2
22742774215.3

22742774216. 4

Question Number : 30 Question Id : 22742719050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic which of the following are names of fallacies involving contradiction of the middle
term by another middle term?

A Svarupasiddha

B. Badhita

C. Wapyatvasiddha

D. Viruddha

Choose the correct answer from the options given below

(B) and (D) only
(A) and (C) only
C) and (D) only

1
2
3
4.(C) only

(
(
Options :

22742774217. 1
22742774218. 2
22742774219. 3

22742774220. 4

Question Number : 30 Question Id : 22742719050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774217. 1
22742774218. 2
22742774219. 3

22742774220. 4

Question Number : 31 Question Id : 22742719051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AMedia Access Control (MAC) addrass refers to a number which uniquely identifies a device on the Intemet and is usually
made up of bits.

1.16

23

348

4128

Options:
22742774221. 1
22742774222. 2
22742774223.3

22742774224. 4



Question Number : 31 Question Id : 22742719051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s v dhel (T U ) U3 U e o 2 v £ o e ol afd (R 7 o A e v
IRTGEHAT__ facwagl

1.16

2.3

3.48

4.128

Options:
22742774221. 1
22742774222. 2
22742774223.3

22742774224. 4

Question Number : 32 Question Id : 22742719052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which VLOOKUP in MS-EXCEL, when entered into cell L2 and then dragged to cell L5, returns the average number of calls for
representative |Ds listed in coloumn J?

A B C J K L

1| Representafive ID Number | Avg.Call Length (Mins.) | Avg.Number of calls | Representative ID Number | Hire Date | Avg.Number of calls
2 41186 93 1392 44369 9129119

3 41868 6.1 1324 41668 9/24119

4 42434 [] 1295 42666 61015

] 42866 8.3 136.0 41186 N9

) 43027 49 1269

7 44369 70 106.8

=VLOOKUP (A2, J2.15, 1 FALSE)
2 =VLOOKUP (2, AS2.CS7. 1 FALSE)
3. =VLOOKUP (2, AS2.CS7. 3 FALSE)
4 =VLOOKUP (42, A2CT.3, FALSE)

Options :

22742774225. 1
22742774226. 2
22742774227. 3

22742774228. 4

Question Number : 32 Question Id : 22742719052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TH.R & 68 VLOOKUP T 1 L2 Ja(CELL) F 78 Jd¥ &% § iR 10 38 L580(CELL) 70 Wied & ol lem J °
Tiag Tedia o 3 & o e @ offa S cuidi 3 2

A B B J K ]

1 GRIG TS S S| 1 T e () T 1 S T (e oS S S e X O o] T v ] e
) 4% 93 1392 44389 929/19

3 41888 61 1324 41888 924/19

4 a3 75 1295 12886 61015

5 42886 83 136.0 41136 11719

6 430 49 1269

71 44389 70 1088

=VLOOKUP (A2, J2.15, 1 FALSE)
2 =VLOOKUP (2, AS2.CS7. 1 FALSE)
3. =VLOOKUP (2, AS2.CS7. 3 FALSE)
4 =VLOOKUP (42, A2CT 3, FALSE)

Options :

22742774225. 1
22742774226. 2
22742774227. 3

22742774228. 4

Question Number : 33 Question Id : 22742719053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

statement |: Denial-of-Service (DoS) attack is the large number of requests sent at the same time to the web server, thereby
causing the server to crash.

statement II: Virus 15 a self-replicating malicious software causing computer to run slowly.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are frue.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) 1s true but Statement (II) is false.
4. Statement (1) 1s false but Statement () Is true.

Options:



22742774229. 1
22742774230. 2
22742774231.3

22742774232. 4

Question Number : 33 Question Id : 22742719053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
RgsEfums
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4 T | 900 5, o B 11 T B
Options :
22742774229. 1
22742774230. 2
22742774231 3

22742774232. 4

Question Number : 34 Question Id : 22742719054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about quantum computing are correct?
A Principles of quantum physics are applied in it.

B. Quantum bits (qubits) are used as the information unit.

C. Quantum Computers emit radiation fatal to humans/users.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A)and (C) only.
3. (B) and (C) only.
4 (A), (B) and (C).
Options :
22742774233. 1
22742774234, 2
22742774235. 3

22742774236. 4

Question Number : 34 Question Id : 22742719054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FaicH T & §R H FEiiad ¥ $1H-8 Y 98l € 2

(A). 39 Fafen Hive & Riid Srvged 3 &

(B). FaieH f9ey (Fgfacy) &1 Y4N Yo dbls & ©4 § [dbal oidl &

(C). TaicH He HHAIMdIFI3 & AU Ui fafdul & e did & |
i feu e fgoedl H 9 98 SR 9 -

1.%ad (A) 3R (B)
2 &dd (A)3R (C)
3. ®dd(B) 31X (C)
4 (A), (B) 3R (C)

Options:

22742774233. 1



22742774234. 2
22742774235. 3

22742774236. 4

Question Number : 35 Question Id : 22742719055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facilities are available in word-processing software such as MS-WORD?
A_Find and Replace

B. Mail Merge

C. Spell check and thesaurus

D. Automatic Recalculation

Choose the correct answer from the options given below

1. (A), (B) and (C) only.
2.(B) and (C) only

3. (C) and (D) only

4. (A), (B) and (D) only.
Options:
22742774237. 1
22742774238. 2
22742774239. 3

22742774240. 4

Question Number : 35 Question Id : 22742719055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. %4d (A). (B) 3R (C)
2 %ad (B) 3R (C)

3. ©9d (C) 3R (D)

4 &ad (A), (B) 3R (D)
Options:
227427742371
22742774238, 2
22742774239, 3

22742774240. 4

Question Number : 36 Question Id : 22742719056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a water body is deficient in nutrients, it is known as

1. Oligotrophic
2. Eutrophic

3. Mesotrophic
4. Dystrophic
Options:
22742774241. 1
22742774242, 2
22742774243. 3

22742774244, 4



Question Number : 36 Question Id : 22742719056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e
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Options:
22742774241. 1
22742774242. 2
22742774243. 3
22742774244 4

Question Number : 37 Question Id : 22742719057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Discovery of Ozone hole was first made over

1. Arctic

2. Equator

3. Antarctic

4 Tropics
Options :
22742774245. 1
22742774246. 2
22742774247. 3

22742774248. 4



Question Number : 37 Question Id : 22742719057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
IS oo @1 Gauud @i g © O ®el gs 41 2

2. YA ¥l

3. GI&T Ydig &
4. I Bicay &
Options :
22742774245. 1
22742774246. 2
22742774247. 3

22742774248. 4

Question Number : 38 Question Id : 22742719058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the correct increasing order of prescribed limits for following pollutants on 24 hours basis in residential areas by
CPCB?

A Suspended Particulate Matter (SPM)

B. Respirable Suspended Particulate Matter (RSPM)

C. Lead (pb)

D. Ammonia (NH;)

Choose the correct answer from the option given below:

(), (B). ), 0)
B), (A), (C), (D)
C), D), (B). (A)
C), (B), (), D)

1
2.
3.(C),
4.(C),

M/

Options :



22742774249. 1
22742774250. 2
22742774251. 3

22742774252. 4

Question Number : 38 Question Id : 22742719058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot < ot g o srardta 1 7 24 92 & omuR R Fafafied wovel @t di @1 Sfid 96d gU A A qat|

(A). fcied faftreia werd (sPum)

(B). e fcfe faforepta e (RsPm)
(C). TFT (Pb)

(D). ST (NH;)

I few e faedi § 4 98 SR

(A),
B),

) |C| ID]

1.(A), (B)

2 (B). (A), (C). (D)
3.(C), (D), B). (A)
)

(
(C)
(C), (B), (A), (D)

4
Options :

22742774249. 1
22742774250. 2
22742774251. 3

22742774252. 4

Question Number : 39 Question Id : 22742719059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement || A nuclear power reactor is a system designed to sustain a fission chain reaction and extract useful energy.
statement II: Light water reactors use ordinary water as the moderator

In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (|) and Statement (II) are false.
3. Statement (1) is true but Statement (Il) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742774253, 1
22742774254. 2
22742774255. 3
22742774256. 4

Question Number : 39 Question Id : 22742719059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T d FFRIME:
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Options:
22742774253. 1
22742774254, 2

22742774255. 3



22742774256. 4

Question Number : 40 Question Id : 22742719060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are fwo statements:
Statement | Composting is aerobic degradation of organic materials under controlled conditions, yielding a marketable manure.

Statement [ In such composts, concentrations of key nutrients such as nitrogen, phosphorous and potassium are sufficient
enough to compete with commercial fertilizers.

In light of the above statements choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement () are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) Is true but Statement (1) is false.

4 Statement (1) Is false but Statement (1) s true.

(
(

Options :

22742774257. 1
22742774258. 2
22742774259. 3

22742774260. 4

Question Number : 40 Question Id : 22742719060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774257. 1
22742774258. 2
22742774259. 3
22742774260. 4

Question Number : 41 Question Id : 22742719061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following opposed the implementation of western system of education in India?

1. William Adam

2. Lord Canning

3. Mrs. Annie Besant
4 BL Rice

Options:

22742774261. 1
22742774262. 2
22742774263.3

22742774264. 4

Question Number : 41 Question Id : 22742719061 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Frgfeiad 9 9 feg- YRd § Uiy fR&T Yormed &1 Sraii-ad B ol faviy fogr o1 2

1. fafcga UsH
2. T8 BT

3. 9wl Tl dde
4. &1 T TSY

Options :

22742774261. 1
22742774262. 2
22742774263. 3
22742774264. 4

Question Number : 42 Question Id : 22742719062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Indian university Act, 1904, was passed during the period of as viceroy.

1. Lord wellesly

2. Lord Ripon

3. Lord Curzon

4 Lord Chelmsford

Options :

22742774265. 1
22742774266. 2
22742774267.3
22742774268. 4

Question Number : 42 Question Id : 22742719062 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR fayfaenayg faagq. 1904, g I1993™ & I § iiid faear 71471 47 2
1. dls doRdl

2. dls oA

3. Tis D

4 Tl JHBIS

Options :

22742774265. 1

22742774266. 2

227427742673

22742774268. 4

Question Number : 43 Question Id : 22742719063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following autonomous scientific institutions come under the financial umbrella of the Department of Science and
Technology?

A Bose Institute, Kolkata.

B. Agarkar Research Institute, Pune

C. Raman Research Institute, Bangalore.

D. Wadia Institute of Himalayan Geology, Dehradun.

E_ Indian Council of Astrological science, Banglore.
Choose the comect answer from the options given below;
Choose the correct answer from the options given below:
1.(A), (B) and (E) only.

2.(B), (D) and (E) only.

3.(C), (D) and (E) only

4 (A), (B), (C)and (D) only.



Options :

22742774269. 1
22742774270. 2
22742774271. 3

22742774272. 4

Question Number : 43 Question Id : 22742719063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Feftiad 3 ®H-8 WEaa di-d S G5 au Ui G & (o I seidid ad & 2
(A) T8 M Bla@
(B). FRER FFHYH TR, 701
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Bad (A), (B) 3R (E)
©4qd (B), (D) 3R (E)
94 (C), (D) AR (E)
@ad (A), (B), (C) 3R (D)
Options :
22742774269. 1
22742774270. 2
22742774271. 3

22742774272. 4

Question Number : 44 Question Id : 22742719064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who among the following are said to have had their education at Takshashilla?
A_ 5 Chaitanya

B. Panini

C. Nagarjuna

D. Chanakya

Choose the correct answer from the options given below

1. (A) and (C) only

2. (B), (C)and (D) only
3. (A), (B) and (C) only.
4 (B) and (D) only
Options :
22742774273. 1
22742774274, 2
22742774275. 3

22742774276. 4

Question Number : 44 Question Id : 22742719064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B). TIfor=

(C). AR
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(D). T

Hd feu T fgwedi § 4 U1 S A -
1.ad (A) 3R (C)

2 ®ad (B), (C) 3R (D)

3. ®ad (A), (B) 3R (C)

4 &dd (B) 3R (D)

Options :

22742774273. 1

22742774274, 2

22742774275. 3

22742774276. 4

Question Number : 45 Question Id : 22742719065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In 1902 , in a telegram to Hamilton, who among the following proposed to appoint Indian Universities commission with six
permanent members?

1. S.H. Wood

2. A Abbott

3. Lord Curzon
4. Lord Macaulay

Options:

22742774277. 1
22742774278. 2
22742774279.3

22742774280. 4



Question Number : 45 Question Id : 22742719065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1902 H &¥ced 1 TR HaR i & § foe &: R Taw aTo SR faufoeed ST g &% @1 T a1 412

2. U dfedc
Options:
22742774277. 1
22742774278. 2
22742774279. 3

22742774280. 4
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Read the passage and answer the questions that follow:

Based on molecular evidence, we know life evolved from one common ancestor around three billion years ago. From then,
evolution progressed. slowly to begin with - in the last billion years, we see very rapid diversification of life forms on Earth as
multiple components clicked into place, including multicellufarity or multiple cells coming together to form one organism, etc.
Against this backdrop, we find all insects share a relationship with each other - they have a certain body plan, cellular functions,
genetically encoded features (many have six legs, for instance) and the information of how these features are formed encoded
in their genome. Butterflies share many evolutionary features with insects. Butterflies are also specialised moths, the two
separating from their sister group of insects 150 to 200 million years ago. Thereafter, moths themselves evolved significantly
before butterflies emerged as a separate group about 65 million years ago, around when dinosaurs went extinct. All the
characteristics butterflies have-including much more acute vision compared to moths who rely more on smell - grew thereon.
Visual cues are extremely important for butterflies which explains why many are so attractive. Their appealing colours evolved
1o help them either evade predators or attract mates, dark colours developing to help butterfiies maintain body temperature,
being cold-blooded.

Some species developed fascinating traits. Aposematism is a combination of two feafures - one is a defence against predaors,
like & chemical cover, some butterflies being toxic to birds, spiders, etc. These caterpillars feed on toxic plants which are
difficult, if not deadly, for predators to digest. Being protected thus is an internal property - but butterflies with toxins

then developed bright wing pattems to show predators they are dangerous, signalling the risk they bear,

Sub questions

Question Number : 46 Question Id : 22742719067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Butterflies and Insects separated

1. 1 million years ago

2. 85 million years ago

3. 150-200 million years ago
4 3 billion, years ago.

Options :

22742774281. 1
22742774282. 2
22742774283. 3

22742774284. 4



Question Number : 47 Question Id : 22742719068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Compared to moths, butterflies

A_have better vision

B. rely more on smelling power

C. are less attractive

D. are more colorful

Choose the correct answer from the options given below:

1. (A) and (C) only

2. (B), (C) and (D) only
3. (A) and (D) only

4 (A), (C)and (D) only
Options:
22742774285. 1
22742774286. 2
22742774287. 3

22742774288. 4

Question Number : 48 Question Id : 22742719069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Appealing colours of butterflies serve all these purposes:
A Repel mates

B. Evade predators

C. Maintain body temperature

D. Attract predators.

E. Attract mates

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.

2. (A), (B), (C)and (D) only.
3. (B), (C), (D) and (E).

4. (B), (C)and (E) only.
Options :

22742774289. 1
22742774290. 2
22742774291. 3

22742774292. 4

Question Number : 49 Question Id : 22742719070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Butterflies are specialized moths.

Statement (Il): Butterflies emerged as a separate group about the time when dinosaurs went extinct.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :



22742774293. 1
22742774294. 2
22742774295. 3

22742774296. 4

Question Number : 50 Question Id : 22742719071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aposematism i1s a combination of

A. Defence against predators by emitting a bad Smell.

B. Brnight wing patterns for camauflage.

. Defence against predators by butterflies with toxins.

D. Bright wing patterns to show predators they are dangerous.
Choose the correct answer from the options given below

1. (A) and (D) only
2. (B) and (C) only
3. (C)and (D) only
4 (D) only.

Options :

22742774297. 1
22742774298. 2
22742774299. 3

22742774300. 4

Question Id : 22742719066 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742719067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
faafert 3R @ie fva- ad gd gy gu?

1.1 T&fea= ad ugd
2 85 fafea a4 gga
3. 150-200 f&fera= g uga
4. 3 fafe= ad ugd

Options :

22742774281. 1
22742774282. 2
22742774283. 3

22742774284. 4

Question Number : 47 Question Id : 22742719068 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®dd (A) R (C)

2 @dd (B), (C) 3R (D)
3. &ad (A) 3R (D)

4 dd (A), (C) 3R (D)
Options :
22742774285. 1
22742774286. 2
22742774287.3

22742774288. 4

Question Number : 48 Question Id : 22742719069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4 ®ad (B), (C) 3R (E)

Options :

22742774289. 1
22742774290. 2
22742774291.3

22742774292. 4

Question Number : 49 Question Id : 22742719070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742774293. 1
22742774294. 2
22742774295. 3

22742774296. 4

Question Number : 50 Question Id : 22742719071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742774297. 1
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